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QUESTION 1

How many bytes of overhead are added to a packet traversing a GRE tunnel?
A. 20

B. 24

C.12

D. 16

Correct Answer: B

QUESTION 2

You want to advertise only a default route into a new area, which will be called area 7. In this scenario, which
configuration statement would solve this problem?

A. user@host# set protocols ospf area 0.0.0.7 nssa default-lsa default-metric 10
B. user@host# set protocols ospf area 0.0.0.7 stub no-summaries

C. user@host# set protocols ospf area 0.0.0.7 stub default-metric 10

D. user@host# set protocols ospf area 0.0.0.7 stub

Correct Answer: A

QUESTION 3

Which Junos feature allows you to combine multiple interfaces into a single bundle?
A. VRRP

B. Virtual Chassis

C.LAG

D. NSB

Correct Answer: C

QUESTION 4
Your network is configured with dynamic ARP inspection (DAI) using the default parameters for all the DHCP and ARP

related configurations. You just added a new device connected to a trunk port and configured it to obtain an IP address
using DHCP.
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Which two statements are correct in this scenario? (Choose two.)

A. The DHCP server assigns the IP addressing information to the new device.

B. DAl validates the ARP packets for the new device against the DHCP snooping database.
C. The ARP request and response packets for the new device will bypass DAI.

D. DHCP snooping adds the DHCP assigned IP address for the new device to its database.

Correct Answer: AB

QUESTION 5

Click the Exhibit button.
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[edit protocols bgpl
user@router? show
preference 150;
keep all;
mtu-discovery;
export static-1;
remove-private;
tcp-mss 409¢;
group one {
export static-2;
peexr-as 2;
neighbor 10.1.0.1 {
export static-3;

group two {

type internal;
local-address 1392.168.1.11;
export static-4;

local-as 1;

neighbor 192.168.1.12;
neighbor 192.168.1.13

Referring to the exhibit, which policy will export routes to IBGP peers?
A. static-3
B. static-4
C. static-1
D. static-2

Correct Answer: B
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